3.4 Chain Rule NAME:

Corrective Assignment DATE:

| Find the derivative of the following.

1. f(x) = 2V1—3x 2. f(r)=33r2=2r
3y= (539622——1)3 4. h(x) = 4;;
5. f(x) = 2xV2x2 — 3x 6. g(x) = 3x(x* — 9)?

] Write the equation of the tangent line at the point given.

7. f(x) = (x*=7)"% atx =3



| Write the equation of the tangent line at the point given.

8. f(x) =(2x—1)(Bx%?2—-1)?atx=0

% f() = =

| Find £'(1) given the following.

10. f(x) = (g(x))?
g(l)=—-1and g'(1) =2
h(1)=4andh'(1) =5

11. f(x) = h(x)

| Find f'(—2) given the following.

12. f(x) = (g(x))*h(x)
g(-2)=-3and g'(-2) =5
h(-2)=1and h'(-2) = -4

1
h(x)

13 f(x) =

:

| Find £'(0) given the following.

14, () = (A2)

g(0)=7and g'(0) =3 g(x)

h(0) = -2 and h'(0) = -8

15. f(x) = 2h(x) — g(x)

ANSWERS TO CORRECTIVE ASSIGNMENT

1 -3 2 6r—2 —60x
" V1-3x " 33Grz—2r)z? " (5x2-1)*

12x2%—6x 8x2—-9x 2 _ 0)2 2002 _
A 5. e 6. 3(x% — 9)? + 12x2(x% — 9)
7y—t=-2(x-3) 8. y+1=2x 9. y—1=-3(x—2)
10. 6 11. ; 12. —66
13. 2 14, 220 15. —19
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